H & Ol & AH S Al A

s
FH: ME2e
B XA fo - = (t9 &)
A2 13 360,442 446,560 86,118
M#Eael 296,516 365,590 69,074
KA 23 - F 38,490 42,471 22,981
ANH 8EY gy 15,235 18,576 A3, 341
201 B2yl 16,235 14,010 1,225
01 AL 22l 15,235 14,010 1,225
O 1. Bt 15,235
=AM DXAAD, AL SE52) HF
65,000 * 208t A 1,300
—AA g8 822 2,720
- ESOH(UBE XEE, Tdy)
70,000 * B4 » 28 700
-2k 11,000 = 10004 » 28] 220
Ot E 120 = 15,00004 1,800
— XNSASH SXHD Mg g7 29 11,215
CE O (LEE XYY, YY)
70,000 * 5IHA * 13 350
- lz2he 11,000 * 1A * 18 11
- EBEE 350 * 5,5000H 1,925
ADME HIE 2 JEBARE 1,600
=UIIE X (0/&)H| 200
IZNE ADHH 29 N8 2E3
2,500,000 * 30% 750
HAXYASAH &#FMD 26 o
gs == 180 » 2,777 * 28] 1,000
IHE e 4X), Y 5,379
TH SRS ¢4 24,255 23,895 360
201 22| 24,255 23,895 360
01 AL 22l 24,255 23,895 360
O 1. ¢eEH| 24,255
—SEHAHA(FIIZ2, 552) 2AA 1,800
- M= 36 * 25,0000H 900
- &Y 36 * 25,0000H 800
—MHAA(HIZ2, SEE) XA 15,120
Sk 36 * 210,0000H 7,560
- EY 36 * 210,0000H 7,560
=M DXA (R, AL S52)
65,000 * 258tA 1,625
—3H U8 828 3,210
CESOH(YPE IR, TdE)
70,000 * BJHA * 33 1,880
- eZrE 11,000 * 107 » 33 330
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2A: A2

2 Ndac

el

XA 21 &

(et @R)

120 = 10,0000

of !

T.200

—XIgA HE ot ¥ B 2,500
oHiE W HEX| 120 * 15,00004 1,800
4o 70,000 * 5IH 4 * 28] 700
gD 29 257,026 323,119 66,093
SEX0 NYNE 29 257,026 323,119 266,093
201 Er29y| 126,250 160,223 33,973
01 At 32l 13,984 13,963 21
O 1. eEl=&H| 10,838
—XSH DXNLS A0S 4,210
EAEX 20,000 » 138fA 260
DRIE £ 250,000 * 504 * 35 3,750
FAX E L 200,000 * 13] 200
~XISA 2R B (HEE, ANE S) 2,000
~H2 HOE YD YR 44 28
—gARY SX =25 1,130
ALES 50 « 7,00004 350
2EE 60 + 13,00004 780
—AEYeE 2 ZpE £
300,000 * 44 « 10} 1,200
~SAdHT EET 55,000 * 109 550
—=dHUJIE8 2E8EX 220,000 » 18fA 220
~SABHA HETSW SOISZNE &
Jb X& 1,500
O 6. AxE 3,146
—S A 143,000 + 208 * 118 3,146
02 &2 H| 112,266 146,260 A33,994
O 1. 222 ¢ AA 112,266
—~ XA OXAH g5 RS 112,266
r<BIRCIEETES 15,000,000 * 63| 90,000
CaAl s 1,850,000 * 128 22,200
CURED HAY SMR
5,500 = 1J0H4A « 128 66
203 2 REAY| 1,485 1,485 0
R EEEEET T 1,485 1,485 0
O NEHE AMEXT oz
1,350,000 * 0.9 1,215
O S+HAK 848 % NY 300,000 * 0.9 270
204 = R H| 24,000 24,000 0
EEEEEED 24,000 24,000 0
O Hez2e Sz
100,000 * 202 * 128 24,000
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M HS1D

3 HNgacl

ool NYHE 29 (Sl ®R)
303 ZAS 500 500 0
ETE 500 500 0

O sSHYY L2 ALTND
25,000,000 * 5/100 * 0.4 500
306 012 6,123 5,312 811
NEEE 6,123 5,312 811
O XD het XA 2FIIZ &0 6,123
308 X XI EHH SOI & 58,817 53,059 5,758
11 2| 2SO HEHI & H S| St ALRI B 58,817 53,059 5,758
O NLHESAAY 2T/ 58,064
O XM XLHMELANAL ST L4t 753
403 XEXI SRS XH20| B 39,101 56,900 A17,799
02 2| RSO THEHRHE = S & AL b 39,101 56,900 A17,799
O XM XLMELANAL DEAAH] 39,101
405 Tt &k S| 750 0 750
01 AR SEH SH| 750 0 750
O = HOIM TRIE(2E) 750,000 * 1CH 750
#HSAAH (HNDI1D) 63,926 80,970 A17,044
|22 (HS1D) 63,926 80,970 A17,044
1= (KR 63,926 80,970 A17,044
201 LBr2 Q| 15,650 15,650 0
01 Ak 2 2lH| 15,650 15,650 0
O 1. YeragH| 7,970
—2heY J=ag) 2,000
—=AEX 20,000 * 90t A 1,800
—Mgass 420
zox| 20,000 * 15! * 128 240
BAEIY 15,000 * 15 * 128 180
~DRIE EH S ARE
250,000 * 50§ * 33| 3,750
O 5. 2| 7,680
—HEiD 2y S
8,000 * 20 * 44! 128 7,680
202 Of H 33,600 60,480 £26,880
01 2UHOiHI 33,600 60,480 26,880
O U BF0iH]
20,000 * 202 * 142 * 128 * 0.5 33,600
203 2 E A 3,600 3,600 0
YV ETEESI 3,600 3,600 0
O HS1nt 300,000 * 128 3,600
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2A: MR
Hu: HESHAH (MBI
B9l D] =R (M) (ool @al)

405 XHobE S| 11,076 1,240 9,836
01 MR ZEFSH| 11,076 1,240 9,836
O AagooA 9,980
O meEilbiR 181,000 * BJH 1,086
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